JKTEST] CBAL) FEIE BiRsR

TH AR SR 2 A i

I H gmtd
TMHBA (FE) T KRTRENRBUH
FEEI]:

Bz OB ETEEZ OFFEE 08 =PI
R HAH: 2022 410 A 31H

AR CRL) PR 5 WA BTHUR G R0 E BE I o AL -
¥ H H F H H

DAY 10 M 55 s = o 4t 7 L

F H

H



B ERE R

ZRIH AR IR REE47 ZRIHARS —RIH Gihd
— 245 H 445 HREEIAT S E 25 ARG 5 5 F PR HAEMETH
1 22 H A WA 1 R H ER Y LAt
FEE] IR AR N RBUR LA KT A N ERBUR AR BAR HE X
T H I AR5 20234 T H HIRR 14 oyl A KR %
T H SR AR HRITH HREEER 57 FEIRRE R E I H o
BRI % RTGE 5 e L L)
O ATE (A o o BRI TSI T

Ui NGiN HIS i 432700 B bk J7IK T AR S R el % 15

R % R & R %2 H &

TR % R HURGUL 2 1 H 804. 473 7t
—— %Tz S N
)

TIERETS FETHEW SN ER. NG, Bz
T H SE it 7 %
— MRS AT

NGRS




T H MH R

MEH | HEH

G AR ASAR T HAE 55 W4 SCHRRAE | BT Do) | THERAL | TR G G TSR L

8, 044, 000

1. FEHT A H R T0 R 180 75 7T

2. FEHTRIA. WRAEREL. 5 B E
223 28075 6

3. BEAKET1000m %500 75,/ m*=50 /5 76

MO0OT— H & X |FERb v it 2 1% TRl b v 5, 100, 000 i 1 5,100, 000

1. FEHTEEHEI0O%2)5 76/ 1=20/ 76

L FEEHTEMEEEAAN B2 570/ A R=10/7 7T
v FER T RANI K12, 55 70/ BE=25 5 TG

v FER TR E 4. 25 570/ BE=5 i 6

L EE Y AMIA T T/

MO001— H & X |JEIE., il Fuhidiie TR [iHRibsiE 640, 000 T 1 640, 000

Q1 W= W DN

1. FEHT PS5 UF6000kk%55 70 /#£=26. 4 /i &
2. TETEEEIE5000%40 75/ m=20 /7 75

. RIS N R & Be4x7. 575 /4E/F=3073 70

4, FEHTWEEF ML % %2007/ 4F

MO001— H & X |FREE ik THRIbR it 964, 000 T 1 964, 000

w

FEM TR 2N A AR, BtaEEE5 7T, it

MO0OL — [ 52 S0 |23 g % TR v 50, 000 A 4 200, 000 $120 77 76

MO0O1—H & X (ALt TRl b v 100, 000 i 4 400, 000 T BT RS 41073 /K=40 T 76

1. FEATRNNREZIM—FiTRI64 570 (122
Nl s AT e o 477 S 35

_ RSN J 12 S S LR l*j‘/%'ﬁé{lﬁli‘iiﬂ{ﬁ@)

MO0O1—RHIEX | RITHIRE PRI 740,000 | A ! 740, 000 2. HHERLMI0TIE: HFFsh, UHE16YNH s
HEH 3 10%10000 76/ ¥K=1073 75




R SCH T RIR

R

HkE (o)

iz O

20234F

8, 044, 000




S H IR

S H

R, KEZ, MBEHESE.

LG b

KW, KEEZR, MBEHESE.




ISSLSSIEY 6=

G R

TIEHE: 2023

& B 2023

~ i) + Ny . e o o | TEBRELUE | FEARMELRF | SiRTAE b5
e FakR 4R ngfﬁ %g% | ke || ORI L) SO
1 r= iR bR
HEdebs
- s S 8 T > 70 i THRI bR HE
TH A AL ELRE > 1.5 ANH TRl bR v
TH [ ) 2R LR > 3 ANH TRl bRt
RIN ) T AR > 1000 m TRl b v
N BUR > 4 o TH R bR HE
24k, = 5000 m TR ARvE
YENE. L. > 16 i PRIl bRt
Ak it > 4 ) TR bR UE
JiEFE b
ﬁg%&%%$ > 95 % THRIbR
Vi 1E 5 1 FH % > 95 % PRIl bRt
IR AT 55 A = 95 %
i Xfe b
—4 ENE 12 7 JEE 58 ik THRIbRHE
A TR bR
TR A < 804. 4 JiJt Rl bR v
2 LERI=LN
LB e fa b ‘
W2 RS SR AR > 8 S THRI bR HE
s fabs
B 4R 2 K ENE B S $R T THRI bR HE
LSRR e b
I 5 iR T B S $R T TH R bR vE
3 R TR AR
R TR bR
Jiie 45 %o 56 2 > 98 % TR bR Uk




